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Single Line Question Option : No Negative Marks Display Text : 2/3 Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0.66
Which of the following is NOT a characteristic of a business environment?
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Options :
Complexity

| v D08Pes

Dynamism
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Certainty
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Inter-relatedness
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Correct Marks : 2 Wrong Marks : 0.66
Which of the following is an important form of business environment analysis?
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Options :
SWOT analysis

| = SWOT d3ea

Regression analysis

, % OIRS(HERNN) DIhen

Correlation analysis
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Descriptive analysis
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Correct Marks : 2 Wrong Marks : 0.66
The vision and mission statement of a company are part of which component of the business environment?
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Options :
Micro environment

| a O TErddeao

Macro environment

v WO aEsdeo

Internal environment
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Regulatory environment
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Correct Marks : 2 Wrong Marks : 0.66
According to Michael Porter's model of structural analysis of industries, the state of competition in an
industry depends on basic competitive forces.
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Options :
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The suppliers and distributors of a firm are a part of its:
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Options :
Macro Environment
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Micro Environment
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Internal Environment
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Global Environment
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In India, the Planning Commission has now been replaced by:
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Options :
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The only organisation that deals with rules of trades between nations is:
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Options :
GATT
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WTO
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ASEAN
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NATO
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In the context of SWOT analysis for a company, which of the following represents an opportunity?
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Options :
Ownership of excellent brands

| % OISR [2r0fe> C8ressirase

Reduction in prices announced by a competitor

, & FETEA o507 (HEB0DS SES $hod

High cost structure

3 & 9O8 N AT 0

Emergence of a new, low-cost technology that promises to increase customer outreach

e TEEED K6 2N DOTOKE 955730 EE) 30t &, 88085 AEE b Bosey exef
4 v BAEV0S%0

Question Number : 9 Question Id : 1927321366 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question Mandatory : No
Single Line Question Option : No Negative Marks Display Text : 2/3 Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0.66
Which of the following economic policies is likely to benefit domestic companies?
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Options :

A policy to increase the corporate tax rates

5T 0 755 BY 0T A0
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A policy to open up hitherto restricted industries to foreign competition

L % B0 SEB HOMWeo Babhard HOFSeD T 8 BOT Do

A policy to increase tariffs on certain imported finished products

5 % OHOB TDES) EQ), 0 3¢ 3O DOFTOD DO IS0

A policy to curtail government spending on infrastructure in order to reign in fiscal deficit

4 v (OS50 337ch TSRS STOLHGRD AT (D20 50 DY S5ATR S0 Deyaso.

Question Number : 10 Question Id : 1927321367 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question Mandatory : No
Single Line Question Option : No Negative Marks Display Text : 2/3 Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0.66
Which of the following is an important feature of the Industrial Policy, 19917
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Options :
Expansion of the public sector

| D5 DFE Ty D

Setting up of heavy and machine-building industries by the government

5 x (02D 50T 230 SHOAN ABHO|-AT3ea HOFD T=)en Tako

Establishment of a large and growing co-operative sector

R HBAN SH@ T F-e3dDTES(D635°8) S0IrR)) ST BADEBO

Abolishing of industrial licensing for all projects except for a short list of industries
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Under which of the following methods of privatisation, does the government
authorise private players to deliver certain services in designated geographical
areas?
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Options :
Divestiture of ownership by the government

| w (9920650 or ST AlraasTdses DBAE0

Franchising
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Contracting
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Denationalization
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Prior to the economic liberalisation of 1991, the Indian Government had adopted a strategy of:
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Options :
Import substitution

|z Qe |DHergedoy oo

Globalisation

, v N2BEIS

Unrestricted imports
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Free labour markets
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Which of the following is a distinct feature of Foreign Portfolio Investment (FPI)?
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Options :
The period of investment is very long term.

| v DEPDETE0 T BT CBOENOE.

It involves very high investment of capital.

L % OIS 0808 Lrexddd BEPRIENOETON

It confers the right of management and control in the firm in which investment is made.

5w DPA DB 00PS” diraards T8y DB AAHO(BEI 2B @OBINOR.

It is volatile in nature.
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Which of the following statements is INCORRECT with respect to Foreign Direct Investment (FDI)?
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FDI may lead to crowding out effect by stimulating exit of domestic enterprises.

L% BROH D00 J[R13e0E90 GONSO TBOHG0 T 507 FDIew (FA0R @5¢3 TDFE T8SaHSR.).

A country with a large market demand as measured by per capita GDP will attract a larger FDI.

5 ¢ SODB GDP 750" B8)09260 @HE Sr5yed GSrod Gy B0 DY BsoS FDlexd essdaraw.

FDI is a passive form of investment.

5w FDI DeParchoe HTE Ero.

Arbitrary and non-transparent regulatory environment discourages FDI.

4w DEOE HBAw BN 80m BA Aaho|den 580 FDIO AS&ETTHEN0R.
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Which of the following is NOT an objective of privatisation?

%5 Tn51a7e3S DO | 2053¢388 e TInE), ©F 50 527
Options :
To improve the performance of public sector enterprises.

L 1992085 Soi oD HABEM BoBohDEERS

To reduce the administrative burden on the State.

, % TS 50D HOTeE arord) Slod@s

To transform the economy from a market economy to a command economy.

@308 525050 SrBy40 25D 0D EAT08 JFT0WE I %o

3. %

To distribute ownership of enterprise more widely in the population at large.
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Which of the following is NOT an essential condition for the success of privatisation?

%S TS 73 | 2053¢388 8 DezcirdE eomrgsddss D0 G E?
Options :
Commitment from the political leadership

| T8aD TahEe 50 0D AP S e08sarso

Existence of multiple private players to replace a government monopoly

5w (025 DEJ583 250 BOHE e9TE | 23w Hoden &odkeo

Clear linkages between the cost of a service and benefits from the service in the minds of the consumers

5 % WAHde 5B HE 50 DB DO HE 5D 7238 58 BB DINTS BIDNOTTS0.



Interest from foreign institutional investors in the bidding process for the public enterprise

4 % DT JoerB| 2 (HEHes s Do) TEE DGOR 1HEHS’ DT Do DEPDAT L 0D el
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A company manufacturing gym equipment has seen a steady increase in the demand for its products over
the past decade due to increased gym enrolment in metro cities as well as Tier-1I cities. This is an example of
which of the following factors affecting the macro environment of a business?

DUE SHTren e9TVBOT BCHB-Il SHTS BHS FBrd Homs DEBH0 IO KBS STaseod
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Options :

Technological factors

| % arosed sdsten

Political and legal factors
, 1 72805 s0B0% BHHEZS s Esmen

Social-cultural and demographic factors

5w a3y 0028 DB BITTDE(23072T00Ds) 55D

Ecological and physical environment factors
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EDI stand for .

EDI A3y saden Gro:
Options :

Electronic data interchange.

| % VOFVS By R065T0S

Engineering data interchange.

, % RO2VOON Ber RoeEToS

Electronic deal interchange.

5 v DOFAE &S QotrdTos

Exceptional data interchange.
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Which one of the following statement is not considered as a merit of E-

commerce?

808 DSOS’ A 2-5:087) MBNEY, B3rH2e5(OET) T HBKES0Tsb0?

Options :
It can conduct business 24hours*7*365 days.

| % 2O 24 BoLen*7*365 Baren asrd0 JBSPotstersy

It creates new markets easily.

, % A0 TS SrBp8d wedforr HeRWod

It does not facilitate globalisation of business.
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It reduces cost to buyers.

s 2O ThffencHerdy i éfod

Question Number : 20 Question Id : 1927321386 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question Mandatory : No
Single Line Question Option : No Negative Marks Display Text : 2/3 Option Orientation : Vertical
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Understanding the environment is important for a business because it defines attitudes of the people
to business and work and whether people are ambitious or complacent.
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Options :

Political
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Economic
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Technological
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Cultural
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Which of the following is NOT an example of liberalisation measures by the government?

B85 285, T3S 5206550 BEB) HEDEBODEBEAS) i85 Grrrde SO E?
Options :
Abalishing industrial licensing requirement for most industries

| % OFE HOFDHOE 208 RODHS BRI 0N 545885 S Tahcso



Levying an extra 'super tax’ on investments by foreign portfolio investors

DBB FT1OTr 2508 & 577 TOHT DERHOD OrHE x5y’

oSG0
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Simplifying the procedure for imports and exports

s % Of0een SHBaAN DA (HEAHS HEPE S0 Tahiso

Allowing industries freedom in determination of prices for goods and services
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Managerial Economics, as a discipline, combines economic theory with:

2.8 ST DD EOAHS TS YNS 557789 ePEFDS0) @S BRS
S BIAE DETWE HANE (08 DT 00)A HAPEBO TROA:

Options :

finance theory

S HAHE

operations research

esHBAS) B8
2. %

scientific method

0E3DE Edo

managerial practice
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SCM stands for .

SCM 3308} DB SFHo:
Options :
Supply Channel Management

DD OO DIB060.

Supply Chain Management
Tond e Boed

fe!
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Supply Chain Manager
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Study Chain Management
4 % DG TS DT o
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A decline in price of a product by 5% leads to an increase in quantity demanded by 20%. The elasticity of
demand is:

2.8 656518 53 5% 5tHAe Q) TBnE) GITO TR HBXTE0S 20% DEHSOE
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Options :
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2.¢ 3
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EFT stands for:
EFT 0308 D0Ee dodo:
Options :

Electronic Flow Transfer

L QO FRS &F |£753)0

Engine Flow Transfer

, % ROBD & 1857530

Electronic Funds Transfer
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Easy Funds Transfer
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Which of the following E-commerce business model is also called as reverse
auction or demand collection model?
808 3¢S Q) E-57505,) a5ard Seararadd 855 300 S Gdrod
D&8ea S ed) e Dewardy?
Options :
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5 ¢ C2D
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is an organisation that maintains one or more gateway computers and provides internet access facility
to other users by allowing them to connect their computers to its own gateway computers by using a
modem.

2.5¢3 S 00T D525 TES L0556 D& Sar0tsBoS e, @chd DA%
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Options :

1.« HITP

5 % ISP
5 # URL

4 ® HTML
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Which of the following E-commerce business model is also called as

reverse auction or demand collection model?

808 ¢3S &) E-5505) a7 5ard Ssurmred 856 S0 S
G308 8B ddurer @ S e n?

Options :
John Maynard Keynes

28 o0 88

Paul Samuelson

5 O TAFIOI0

Adam Smith
3 % @ RS

Alfred Marshall
eSS D8 SrYS
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Which of the following is NOT an explanatory variable in the demand function of a product?
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Advertisement expenditure incurred by the manufacturer

SO EGE @0ahs 108G )

Price of substitute products

) w DEEETIOH G e &

Income of the consumer

3 % QAWTHT G srado

Capital structure of the manufacturer

4 x SOTETAS 530S (D86
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Which of the following statements is INCORRECT with respect to Giffen

goods?

BS B8 (3580:9€2)%0 H0D0EB0D) BHS DEYS), (DSOS’ IO
JBSE 5207

Options :

All inferior goods can be termed as Giffen goods.

G800 HWHen €903 A Krd) @ DenTTED.

1. %

Price and demand are directly related for Giffen goods.

ADS &) BB OO HBaA Gdrod (Hebs8 Hoorrd) EOh
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Giffen goods are generally inferior goods.

g ADS 0r6) e dom ordso &)

Giffen goods have no close substitutes.
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Which of the following is NOT a characteristic of an economic boom?

%5 DTS ¢3S OB €30 3828 598 (DETWE 207)
¥ 200 5707

Options :
Rising employment and real wages

| v GO BN 3RS JehTren Dotdtso



Increased capacity utilisation by companies

, % 8020 @ 507 DAGT P50 DSk

Rising government tax revenues

1202565 5 3755 TG OIS0
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De-stocking and heavy discounting by companies
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The demand curve of a firm is identical with the market demand curve for the product.

HOP W) BITroB SETY, G518 TEE 50835 BArod SETRErS Gotnod
Options :
perfectly competitive

| x DOISDS %S

monopolist

5 % SO FORDE 575 5°0)
oligopolistic
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monopolistic
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Which of the following statements is true with respect to the utility function?

5033 HoE SINTIradS 1DAH0) & Ho20B0D HHN DSITOS DO Heszo?

{i). The marginal utility curve slopes downwards.

(i) 270SS A50e3OE] 55 s(esaroes DT SE0D) BHSSHZ 6 S0otnod.

(ii). The average utility curve falls faster than the marginal utility curve.

(ii). CSr3B2S Be3ES KB 1(SKew (HTIred H5BD) oA Sr0SS Sne3des §6 s(earod |DTrad J58w) o) DKo DS
(iii). The total utility curve rises at a diminishing rate.

(iii). £ 50D Bew 5 S'eS B3OS 55 5(HDOIY (HTIresS H150D) DEHEE0A.

(iv). The total utility curve rises upwards when marginal utility is negative.

(iv). S0 AinE3OE3(Earoes DTIFRS0) 205 S0 Gred) D)0 SOS a50e3O)e3 85 (Do DT 5150D) 28 D0

Options :



Both (i) and (ii)
1w (1) SHBA (ii) Bockr

Both (ii} and (iii)
5 % (i) SHBw (iil) Bodkr

Both (i) and (iii)
5 o () DO (iii) Dol

Both (ii} and (iv)
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A situation in which a firm bases its market policy, in part, on the expected behaviour of a few close rivals is
defined as:

2.8 D0P $S X880 DTR0oS FoeberBo S Habd (Debrden 320D (DSOS errdd GoD
HEVBA ger DB SOOI
Options :

Perfect competition

| v Do3yg &red

Oligopoly
5 % LOFFORBDS55050)

Monopoly

Monopolistic competition
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Cross elasticity of demand is positive in case of goods which are;

S0 Be NSO G510 (50 DerRned esp Garod (HE018 GXTos VOTDHES)
Sred 80 5otnod:
Options :

not related to each other

| v 28RS B dowodo Bhow oo

perfect substitutes
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substitutes
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complements of each other

4w 238388 Syrdsent 0o
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Which of the following is a valid difference between perfect competition and monopolistic competition?

EHS DEYS) 73S Ho5G 8¢ 805 BrSTOVS(HTODHS) &Fed g 2.8 Dews S Sca?
Options :

There are a large number of sellers under perfect competition and a small number of sellers under

monopolistic competition.

H0E ¢S 80 DY HowseS DBehen S0erd HOO IrSTOVSHTEDHeSs0) ¢d 8o
| x S50 HopgeS” Eesen Gotr.

Sellers under perfect competition have zero monopoly power while those under monopolistic competition
have complete monopoly power.

0538 &%¢8 80¢s DEesen B8 FrSHO HIB Y DER 508 38R ¥OA Goerdd, BVSOT
, % STOVFHTHDH50) %3 808 8 BrS DL 5505) DB EOB G0Lrdo.

Price elasticity of demand is infinite under perfect competition while demand is inelastic under monopolistic

competition.

D08 e 8o GXdroh TBEy GF VBTHES 95050 DB B TODRED 55 O58) £¢3
« 8085 BXTr08 VBT HEB OB o,

w

Perfect competition results in optimum utilisation of capacity while monopolistic competition results in sub-
optimal capacity utilisation.

508 e HOBOm P50 oSO GHBVrAoNE R0, 0T HoaboS
IS FOVEHTODS:0) 8¢S POSBOMT 65 F0HDADH 0G50 GHTTHOHTDES0E.
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In a perfectly competitive market:

2.8 DSBS 358 E5S™
Options :
a firm's average revenue and marginal revenue will be equal to the price

Lo 28 HOD Ty S%en TarG HBA Garodd Traxche) HEE1 HATH0 @HTmow.

a firm's slope of the marginal revenue curve is twice that of the average revenue curve

2.8 Do T} Gorod esrrod SHEDD T3y e A Ofen Trad £EBpd BT
5 % TsOENOG.

a firm's total revenue curve is inverted

w28 DD Tgy Bwtho T S|ETY SO GOEVOE.

a firm's marginal revenue curve cuts the marginal cost curve from below

w28 HOP By Garodd T S E0D 9B Garod &;a% HEDHA 80 Hod) HOGOH
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Rigid or sticky prices explained by the 'kinked demand curve' theory are observed:

‘%0880 ot (kinked) G508 SEDD’ DF050 o 50° DSBoIT B828H(E6X) B VEEFSDS)
80 AAS Ko B0b:
Options :

In perfectly competitive markets

| x DOISDS S S8y SS”

under monopoly

, & SDOHTHIS50) 8odd

in monopolistic industries

S HOVE T OIS HOFHS’

in oligopolistic industries

2 OFTOVEDH OB 5:305) HOFS
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was created to translate the words user types in into the IP address of the site.

OS5 BID B DO E TBEy IP 9B S8 905 0tHEIS ST DAHDAIE.
Options :
Internet Service Providers (ISP)

Q0686 HE5 (°SEBB) (ISP)
Domain Name System
5 % ES B DY
Link Layer
3 % o8 @90506
Network Layer

ey 67 B
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A cab aggregator company has estimated the supply curve for taxi cabs in the city as:
S =200+ 450P-12R

Where, 'S is the supply of cabs, 'P' is the price per kilometre, and 'R" is the cost of regulatory compliance per
cab.

If the price per kilometre is 320 and the regulatory cost per cab is 50, then the number of cabs that will
enter the market is:

2.8 52525 9| ARED $0A 2.8 dHScS exsdy s2seSer FEH1 HNoW SETA & DHOT o™ BV
5 =200+ 450P-12R

204 'S DO 55 By, HROW, P DA (H S NEEE B8, BN R @D (H 5525 §
BB 500CHNT S5aH0.

2.83% (58 85 anerBHE0 8 720 K850 (HE 57525550 BHFSEE $50%90 T50 900, €93y )k
SrBES Q8 |1HBF0T 57525 Hdows:

Options :

| % 9200

5 % 8600
5 ¢ 10225

4% 7742
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Based on the following table, the equilibrium market price will be:

&% HEIE esrrEorr, Dvders Hrdied O

Price in % (rupees) Demand (units per annum) Supply (units per annum)
2 (BraraHs) &8 3708 (HS H05S I8 5 (5B S0 30°V8
A ew) CRTREIe)
10 1000 100
20 900 200
30 700 400
40 500 500
50 300 700
60 100 900
Options :
1 & 320
2 # 330
3 % 340
4.« 350
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Which of the following statements is INCORRECT with respect to determinants of supply?
HR0W AT E57erE0 QODOGOD BN DB, (DTN o) DBH 5°9?

Options :
Perishable goods and artistic goods are exceptions to the law of supply

ZoPDTD 5250 G55) S DHEN sHBAH 576 % SXVHEN DNV AALVO 0D WadSFaN0 Y
1 % B3O8 Goeromn.
Changes in technology can impact the supply of a product

OBEEBE At e 551 HVOWR) (D0 Lryesaw

Supply is not influenced by the business goal of the firm

5w ORVON BT H0P S ©F 5073 (HrDS0 5.

Government regulations affect the supply of a product

4 % (22085 D200den t5e8)E HRNA (DT Trow
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The demand curve faced by a price-taking firm in a perfectly competitive industry is:

DD )5S 63 20| DS 2.8 | HD-T80A H0P I BSTrod S EBey:
Options :
horizontal in shape

L 3523065 § B2 HAToSEOT GoEnod

vertical in shape

, & @580 QYT GotNod

downward sloping

5 % 8oS53H% O otwod F'SSG FPof)

kinked in shape
4 % O3S (kinked) €50E00E
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If a high net worth individual, who is an automobile enthusiast, has the following utility structure, his average
utility and marginal utility after buying the fourth car would be;

9HE DES Dendd EORS 2.8 et BNBS Ter)2rSo@S 558, (80O DTz Domgeam)) OB Gy .
TP 525 Foffen T SK0ares e9¢bG HHEN (DTBTe0 SHBCI Grarods (HBIT2S0:

Number of cars Total utility
50 Hog [0 (Do
1 50
2 77
3 90
4 96

Options :
38.5 and 27, respectively

L% 90T 38.5 s080%w 27

24 and 6, respectively
2 o BT 24 HBASW 6

35 and 16, respectively
% oGO 35 8Os 16

w

11 and 44, respectivey
4 % ABIT 11 HHBasw 44
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Which of the following conditions will NOT make price discrimination possible?

%S DG, 0SS’ DB B8 DS w50 Toh?
Options :
Seller has control over the supply of the product

| x ESH S Hdow Aoho|sher Gotwod

Seller is able to divide the market into two or more markets

5 x BSB 57333 2,563 By 0S50 B STTyEden DDBOT N0 LOENOS.

Price elasticity of demand for the product is different in each market segment

G588 Aol GO8 DETHES 08 $55783¢ JextioS” BT Gotnod

Arbitrage between low-priced market and high-priced market is possible

4 D895 B8 5B HBAW 9B 58 ST s 238 a5 (8 B 280) 5.
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The relationship between two figures expressed numerically is called a:

BOD DOWEE s0E5E DOVOTTR), DOYrs DEOMT BOCHBECHEER), A @0eErHd:



Options :
Trend

| % (P05
System

x P
Ratio

¢ DCaddr

W

Regression

L« OAS
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Unless specifically identifiable, cash flows from taxes on income:

(DSBEor HEODILONS 65, STTAHOR D) HOD) S (DeeFo:
Options :
must be classified as 'Cash Flow from Operating Activities'

| v 80800 858erare) HOD) S (D0’ SS DO $8%80w

must be classified as 'Cash Flow from Investing Activities'

, % PP2A 5EsEerare Lo S (DIEF0'SS DO 30880eO

must be classified as 'Cash Flow from Financing Activities’

3w OO0 5858erare) 0D SB (DTEro’'SS DO 508800

need not be classified under any specific head

4 % OB YR e 8ot G880 ) @SIE0 Bk
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For the purpose of calculating return on investment, operating profit is calculated as which of the following
options?
EPDED SAITR) BELotey TEE, HHS ELS) @) 0D T30 (D (RS s
e1230) B8).0cieceob?
Options :

Operating profit = Net profit + Fixed cost — Non-fixed expenses

| v N 5rer ergfo = DB ergfo + VY Hsaho- PBorr B Hsairen

Operating profit = Net profit + Investment income — Operating expenses

5 % VO 5arer ergfo = QES erefo + PG e300 - A Saren SHgairen

Operating profit = Net profit + Current expenses — Non-current income

- RS 55780 e37850 = DES €780 + [ Sairen — S 808 e3moho



Operating profit = Net profit + Non-operating expenses — Non-operating income

4 % N53e0 330 = AES B0 + AE STHBSE Ssairen- IS B escmoo
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A high is NOT considered desirable for a business.
e T T8 OB IO 2TD0rI2HEN.
Options :

inventory turnover ratio

| % D500 S0 NS

debt-equity ratio
5 o T3¢3-8:85¢8 DS

fixed assets turnover ratio

2835 @) T X6 AN

gross profit ratio

7 v =Y
4w 0 erds A0S
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Which of the following is true with respect to the direct method of computing cash flows from operating
activities?
Q& 5580 o8 s8erare) o) SEED (D) B8row (D6:8 Dl Ho20HoR &N 8L
DO Hebro?
Options :

Net profit or net loss is used as the base to arrive at cash flow from operating activities.

R s 528 58e7ared 0D B |HEER), TBHTIEVE Arey €750 B e dRo 2.8
L # Srererdo S8 GHOSrRotsetidenod.

It requires adjustments for non-operating income and non-operating expenses.

, % VOSTEBE errdHo HOAM AE FTEBS Hgaire FEF HAB HDeED 50 80.

It requires adjustments for changes in current assets and current liabilities.

5w (080 esen SHBAN (HR 205 B £85 H2reD @080 edeaw.

The difference between cash receipts from operating revenues and cash payments for operating expenses
represents the net cash flow from operating activities.

Q& 55720 TG OV oS S BRYe HBAN Y §3en 5305re> FBF TS S BDoHe
4 v DO Brr QB 5578 5785870 DO AEE S DTV, BOAHBROE.
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Which of the following types of analysis of financial statements is very useful for long-term trend analysis and
planning?

&85O% (B08 0NN Ie9) 0BG TAOR FEE B YD), Nerotd $8o DRAHS
VO D38 DO GIOTITHESOMT GoENOE?
Options :

Vertical analysis

| v OPEO JTOID

Internal analysis

2 QOGO DT O

Horizontal analysis

% 82708 DTN

(%)

External analysis

4w DEI0EO dTORDR
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In which type of analysis of financial statements is each item in the financial statements expressed as a
percentage or ratio to the total of the items?

TR WEOTI0E3 (308 ATEE) BE), Dot 350 JTOD(DTNM)S, PRV
VORISR (HS 9030 Bubo woTed FOR 70 B AAIBT H:8E8otiacheod.

Options :
Common size financial statements

| & G e oRchS RO

Comparative financial statements

, % 50888 DoVAHS DTRoTen

Trend analysis

3 v 08 IOV

Ratio analysis

4 % O3 drdR
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is a part of the TCP/IP protocal and permits users to transfer files from the server to their client
machine & vice versa.

TCP / IP (¢SS’ 2% 2350 s0B5m HE 55 00 DF a6 Sonod ndH 280 SabhmdE
S0BaIN DT=EAHOMT TAEE adr2d8d DDBATVIDG .

Options :

| % IMAP

2.« POP



3 % FTP

4 % SSL
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Complete the given marginal cost equation.

Sales — Profit = Variable Cost +
235238 Garoes S$5a%H HaESET) 8 TOHobk.

9630570 — 7850 = B9 HEaHo +
Options :
Marginal Cost

| ¢ Trod S3aho

Contribution

- v
, % SOIErshd

Standard Cost
5 % FONE SR(ED $3050)

Fixed Cost

L % D Hsoho
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ABC Ltd. sold a machinery on which accumulated depreciation was 344,000. The
opening and closing balance of provision for depreciation A/c was 36, 20,000 and 37,
40, 000, respectively. What is the amount of depreciation charged/written back for

the year?

ABC OBE 2.8 DASER D EonoDod, ol ey T44,000. SE%de
e 650 4RO SHBA5N §280f 2By, SEHM 6, 20,000 S T7,
40,000. H055¢5 0708 Sdrren Do /OBS 275 TOM(D0R) éHhibdder
BNB0 JOch?

Options :
Depreciation charged 376,000

| a Sdren T e 176,000

Depreciation written back ¥76,000
, » TS 2758 DA(Doth) esdordcde> 376,000

Depreciation charged ¥1,20,000
3 v e T Sdidder 21,20,000

Depreciation charged 31,64,000
4 % SN T SHS T1,64,000
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ABC Ltd. currently has sales of 25 lakhs with a capital employed of 310 lakh. The

selling price of its products is 50 each and the operating cost is 340 each.
Assuming that there are no non-operating incomes or expenses, the return on
investment for ABC Ltd. is:

ABC O, 190650 310 ©F © JredSod 325 o © ez $Oh
GOA. TR Gred )06 2,8 T i) @608 S 350 BN 2,887

QS 55789 550500 340, DB 557E35S e Oiren S S505ren D) SSeDT
2rDoRILONE, ABC OWTGH FEE PG 8D (e aHo):

Options :
| % 50%

5 ® 30%

& 25%

(98]

4. ® 15%
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PQR Ltd. has total sales of 345 lakhs in a year with a P/V ratio of 35%. If the fixed cost is 7 lakhs, then the
margin of safety is:

PQR O 35% P/V DA)BE 505538065 45 o8 & 050570 2808, 2.83% DB Sgaho 37
0% en @o®, 5 SO e ?\J%}:

Options :
1% $25,00,000

, « 320,00,000
;. w 31575000

4 % 329,25,000
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PQ Ltd. currently has sales of 345 lakhs with a gross profit ratio of 20%. The opening
and closing inventory is 4 lakhs and 38 lakhs, respectively. If the gross profit ratio is
doubled with cther items remaining constant, then the inventory turnover ratio will:
PQ ANTE, (DNS0 20% e BN IBE 45 o © @850, $O8 God.
25,2000 58050 §2808 BT 5068 2B S SEHM™ T4 e en HOAH I8 ©F en.

2SS @0F"eN VSO Cred) NI, e erel AN B0 ons, @)
2T 50638 &F 38 DAHS:

Options :



remain constant at 7.5 times

| % 7588 3O dorr totnod

increase from 4.5 times to 3.375 times

5 % 4508 0o 3.375 BEY DHedod

decrease from 6 times to 4.5 times

6 B 0D 4.5 BED #Hod

decrease from 9 times to 6.75 times

9 BL HOD 6.75 BEW SHoH

4. 8
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Which of the following will be classified under 'Cash Flows from Investing Activities' for PQR Cinemas Ltd?

E%3e5 T8, DA PAR DASFD OWBE FEX "Depard s8sierare FE5 SK (HDairo” 8o S0%80tadeod?

(a). Cash receipts from sale of online and offline tickets.

() 35T OG5 eaDBS 55,650 559250 oD SFodS S

(b). Cash proceeds from issuing foreign currency convertible bonds.

(b) DR EBA 835020 270G 278 o3 5T 080D SHED

(c) Cash proceeds from sale of equity stake held in a film distribution company, ABC Pvt. Ltd.

(©) DD A NTEAS oD, ABC |56 DNTHES'D &:8:e3 5 (stake) D D Eowocsdho H$© oD K.
(d) Cash payments made to acquire old cinema halls in Tier-ll cities.

(d) BB-1l SKETES o¢h DAXT HS ) P4 AS0 DEIEIL TS S THoyew.
Options :
Both (a) and (b)

| % (3) B (b) Bodky

Both (b) and ()
5 v (b) Bk () Bodr

Both (¢) and (d)
3 % (0 Bk (d) Bodkr

Both (a) and (d)
4 % (@) 0BAw (d) Bodsr
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ABC Ltd. has declared a dividend of 312 per share and the shares of face value 10 each are traded in the
market at 3480 each. The dividend yield for ABC Ltd. is:

ABC OT& 1H8 & 12 AATOE (HEE30D0E S8 10 & S Dend(Rd Sewry) EO8S
2B $383656° 2,89,5,¢3 7480 ©%) TG eaSrson. ABC OTGE gy AITBoS SO

Options :

| % 250%

2.« 25%
3 % 120%

4 % 2.08%
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ABC Ltd. maintains a gross profit ratio of 25% and an inventory turnover ratio of 5 times. If its gross profit for
the year is 38 lakh and closing inventory is higher than opening inventory by 20,000, then the value of
closing inventory is:

ABC &B& e 5N ) 25% 0005 @ 50608 8758 D)8 5 BERT O God. 2,83
05510708 ey €850 T8 ©F e SNBSS TR0 2T 5088 L DAoh A 5068 o 320,000
DBy STF Ered) QoS )% F2200 AT 5068 TRngy dews:

Options :

| % Z4,70,000

,  36,30,000
5 % $4,90,000

4 v 650,000
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A product is sold at 375 per unit with a variable cost of 66 per unit. Current sales are 10,000 units. Fixed
costs are 31, 26,000. The break-even sales for the product is:

2.8 Coet 38 | D0 766 © 138 SN0 (HE SHirREdEd 75 1)) Eo0oRBIA.
IDDES(ES0ET) @57 10,000 CRFEY. E Sgosren T1,26,000. och €3 TEEL 6 SIS angseen:
Options :

| = 7,50,000

5 « 310,50,000
5 % 9,00,000

4 » 12,60,000
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ABC Ltd. currently has sales of 325 lakhs with a capital employed of 10 lakhs. The selling price of its products
is ¥50 each and the operating cost is 340 each. Assuming that the company manages to reduce the operating
cost per unit by 5 each, there is no change in sales or capital employed and there are no non-operating
incomes ar expenses, the return on investment for ABC Ltd will:

ABC &5, D00 T10 ©F © SrodS0E’ 125 ©F @ 205057080 $OR o). o tres e
2,580 €950288) &8 2,87%:82¢3 50 D8I A 557789 855050 T40. 80 DS ChHrdO D A& 557e
530570, 35 157 SHODSLONS, 9550570 Brr eSS0 Deroed Srdy ) B0 SHBCM
QE s57Ee8S estrairen B S5airen BELonS, ABC OBG § R 8&r8T(eseasH0):
Options :

Decrease from 50% to 30%

L % 50% 0D 30%80 SHeA0H

Increase from 30% to 45%

5 ¢ 30% 0D 35%50 M0

Decrease from 45% to 15%

3 % 45% 0D 15%80 SHe0d

Increase from 50% to 75%

4 % 50% 0D 75%5 A0S
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HTTP stands for )

HTTP &308} DA&ed Sodo:
Options :

Hyper Text Transfer Protocol

D8 BB, 167500 1S S

High Text Transfer Protocol

37 B8, 167300 1S TS

Hyper Transfer Text Protocol

308 1€3765))0 B5Y, IS S

3. 0%
Hyper Text Transfer Promotion

3308 B8, €70 ))0 (DI
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Which of the following transactions will cause a change in the net working capital?

%S DY @ eraTBaen T $62.08 55T’ &5 yek $OfTTan?
Options :



Cash receipts from customers amounting to 55 lakh

L % 355 086 TS EPHTe o S B1Pen

Cash received from sale of old machinery 33 lakh

5 o ¢ D 29650280 0D FOBG S I3 ©F en

Payments to suppliers amounting to 37 lakh

5 1 ORCADBOH 237 Dewsd T BTDoyen adtico

Purchases made on credit 85 lakh

4 » BAS(H20)D 85 ©F © FHAT
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XYZ Ltd. needs to sell 8000 units per annum in order to break-even. If the selling price and variable cost of its
product are 380 and 365, respectively, then the fixed cost per annum for XYZ Ltd. is:

XYZ OQTE (235 B3 rOHoHE8 1563 H05¢8350 8000 ArREden JEonoTrd)y Gotnod.
565163 Ty €960285 B8 BT S S:0H0 SEHOT T0 HOTW T65 NS, €956 XYZ O
L D€ A8 DG Hzairew:

Options :

| % %1,20,000

v 36/40,000

[3S]

5 % 520,000

4 % 31,200
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XYZ Ltd. needs to sell 8000 units per annum in order to break-even. The current selling price and variable cost
of its product are ¥80 and 65, respectively. If the selling price and variable cost were to increase by 10% and
20%, respectively, without any change in the annual fixed costs, the new break-even point (in units) will be;

XYZ OTE (235 S3S rOotdmm8 1563 50a3¢8350 8000 AarReden D Fonomrd)) Gotnod. )
565 TINE (DN @95025) BE s0BCRD 98 $55000 SEHT T80 BB T65. 28D R 08 DS
épﬁyfﬂj& 27083 3% BE0EE 96085 38 BN T8 S5:AHO SESTE 10% BT 20%
ODSLONS, 5 |ZI5-EBS aronod [ChrdeSy:
Options :

8000 units

L % 8000 o en

10000 units
5 « 10000 O e

9000 units
3 % 9000 el en



12000 units
4 % 12000 GO e

Question Number : 68 Question Id : 1927321489 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question Mandatory : No
Single Line Question Option : No Negative Marks Display Text : 2/3 Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0.66
The main objective of financial management is now considered to be:

OO RS 0D (es8E DY 557ea) By (DTS @8 50 @) )¢ Yo H8KBoS0l:
Options :

profit maximisation

| x e72r) 80 Tahdo

wealth maximisation

5 v D0NBH B8R0 TAhcko

revenue maximisation

5 % TGQ 8830 DAk

cost minimisation

4 % SSANTY EJ00 TONGO

Question Number : 69 Question Id : 1927321493 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question Mandatory : No
Single Line Question Option : No Negative Marks Display Text : 2/3 Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0.66
Which of the following is concerned with the long-range planning of allocation of funds among competing
investment proposals?

18o& 76365 $0De300 BTIV106 (DFRS(EFES DEPDE (HBFES) O Ave> BErowo) TS
&%5O% A0HE H0220HB0NSE DE ?
Options :

Working capital management

| % 0300 55DOS DneE Do

Capital budgeting
, & TS aFe3oh

Capital structure decisions

5 v SEOS |85 datren

Dividend policy
4 % ODBos red

Question Number : 70 Question Id : 1927321496 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question Mandatory : No
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Correct Marks : 2 Wrong Marks : 0.66
Which of the following is a spontaneous source of finance?

808535 AIrdyD % @388 H5% &?

Options :



Accrued expenses

L% EFR0tH Sgosren

Commercial paper

) v E500HS DB

Treasury bills

5 x @30 Dwen

Bank overdraft

4w 508 2,905

Question Number : 71 Question Id : 1927321497 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question Mandatory : No
Single Line Question Option : No Negative Marks Display Text : 2/3 Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0.66

Which of the following is NOT a long-term finance function decision?
BBS DB e3S eroh 6353 DS H0E S(BBsOE esdE
ID0000) AGCHO A E?

Options :
Investment decision

| v TSR0 dGavo

Financing decision

, & DOR00 dRako

Working capital management decision

3 % 8300 58S S Do AZAho

Dividend decision

4 % GITOS AZAHo

Question Number : 72 Question Id : 1927321498 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question Mandatory : No
Single Line Question Option : No Negative Marks Display Text : 2/3 Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0.66
Which of the following approaches suggests that capital structure decision is irrelevant to determining the
value of a firm?

KBS DEYLSY, Dzrrere’ 2.8 S0P Ve ATB0GH0S e (DEI0 AcHo Howoddo
BABA DEFLDIE AE?
Options :

Net Income approach

| T 2530 @ DFS(AEG BTaD DTS0)

Modigliani-Miller approach
, & BrAAR-DOE S

Traditional approach

3 % VOO ITTO0



Weighted Average Cost of Capital (WACC) approach
4 v TEDOS Ty JowBa AirdBel sPard Hifew $50H0 (WACC) e85

Question Number : 73 Question Id : 1927322551 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question Mandatory : No
Single Line Question Option : No Negative Marks Display Text : 2/3 Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0.66
Arrange the following sources of finance in the order of their duration, starting from short-term to long-term:

S DEYS) e8E S5KeD B 5035°010 0D S50 SEE 7¢3 575556 (E006S @804,

(a) Lease financing

(@ O ol

(b) Venture capital financing

(b) B0SB 552D DT H0N

(c) Factoring

(© ars880h

(d) Commercial paper

(d) 880D DBew
Options :
1. ® a, G dr b

2_33 dxc(arb
;¢ Gdab

4. ® afbadac

Question Number : 74 Question Id : 1927322554 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question Mandatory : No
Single Line Question Option : No Negative Marks Display Text : 2/3 Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0.66

The CEC of XYZ Bank Ltd. sanctioned loans to ineligible borrowers in return for hefty commissions paid to his
spouse. The borrowers later defaulted on these loans causing heavy losses to XYZ Bank Ltd. This is an
example of:

XYZ 237308 OB V&) CEO @95 2Deh 2rKar ;b8 2P FndosS’ Euasen BOo%0 S
03B Soeaioresery Segrercd o Tach. Smafarsden Sares & SeroD Gary
0CSE%D, AR PO XYZ 2508 OWTBEY 27O HaFen H3r)ow, ad BIE Gorsrdee:
Options :

agency problem

| v DB Dg

agency cost

5 % B SN0



hubris

H{EARS!

]

w
®
%{

wealth maximisation

4 % DODBD KHBRO TAO

Question Number : 75 Question Id : 1927322555 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question Mandatory : No
Single Line Question Option : No Negative Marks Display Text : 2/3 Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0.66

Which of the following sources of finance is the most suitable for a housing finance
company to raise financing for further disbursement of housing loans?
S0DB KSrdreTes 23E7 553 FEE PR J0R) DOLHEIF 8 Frdoh

273 S0 85 A% DTED) @ 8% S5&en eodbeodh
BBDSDHIY?

Options :
Euro bonds

| & O erofew

Commercial paper

, » $580H6 DB

Bridge financing

Securitisation

4 DETBTEDS

Question Number : 76 Question Id : 1927322556 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question Mandatory : No
Single Line Question Option : No Negative Marks Display Text : 2/3 Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0.66

ABC Ltd. has issued debentures of the face value of 1,000 carrying a coupon of 9% p.a.

and redeemable at par after 10 years. If applicable tax rate is 30%, then the cost of debt

is:

ABC OBG T8 9% S SHBA%0 10 H0oSeJo°e> ares 5S0 T

31,000 508 Dend (DR Jexrg) EORS Gz3058& 278 T, 2,83 30% ¢755)
B0 SB0DIL NS, 95y )¢k Soea S3a%o:

Options :
| v 9.0%

o % 2.7%
s % 63%

4 % 6.0%

Question Number : 77 Question Id : 1927322557 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question Mandatory : No
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Correct Marks : 2 Wrong Marks : 0.66



The capital structure of ABC Ltd. comprises 60% equity and 40% debt. The debt is in the
form of debentures having a coupon of 12% p.a. Cost of equity is 18%. The tax rate
applicable for the company is 30%. The weighted average cost of capital (WACC) for ABC

Ltd. Is:
ABC 58 D&y SE06S (D835 60% Sa8 563 H8350 40% Sveen $O8 God. BE
(55690) DT EE 12% E5D GBOTHO ErH0eS G0d. 88 5¢3 Ty ) 18%. E0DAE

S80S Ers5) Bew 30%. ABC OB FBH 5°50e0O M) Sontrd ASrdved
575 DN S0 (WACO):

Options :
| % 14.16%

5 ¢ 13.30%
3 # 15.60%

4 % 8.60%

Question Number : 78 Question Id : 1927322558 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question Mandatory : No
Single Line Question Option : No Negative Marks Display Text : 2/3 Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0.66
The purchases, sales and cost of goods sold for ABC Ltd. are ¥4, 80,000, 5, 40,000 and

3250,000, respectively. The stock of finished goods, debtors and creditors as on 31 March is
350,000, 18,000 and 12,000, respectively. Assume 360 days in a year. The operating cycle for
ABC Ltd. is:

ABC QB& 8 @912 $380Yer S0, e96drz57en sHBasm S5asren SSH 4, 80,000,
35, 40,000 sHBCE0 T250,00000. 31 5578 ©°¢38 HAR K38, (A SNHew) A5,
Bdea|i§oreben (debtors) SHOCM Bdeacrrésen (creditors) SBIM T50,000, 718,000 SHBAS0
212,000. 50565 3506Y 360 H22en &) AHA) 270508, ABC TG Ghn),
esHBe3oh DES:

Options :
75 days

| % 75 &%ren

54 days

, % 54 8zzen

69 days

% 69 82w

(%)

81 days

4 v 81 82en

Question Number : 79 Question Id : 1927322559 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question Mandatory : No
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Which of the following models uses the concept of 'economic order quantity’ to determine the optimal level
of cash to be held by a business?

%0 DTS @ dezmren 2.8 arsardo 08 o )d @DONB0HRS SK Trond
BeNNESETI. ‘DETE &85 5 c0e3¢3 2159 SHTrAothEIoer0n?
Options :

Stochastic (Miller-Orr) model

| x OG0 8 (NBB-2.5) IrcdS

Probability model
, % DO Irad

Walter model

3 v TROJGS

Baumol model

L8 TS BraS

Question Number : 80 Question Id : 1927322562 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question Mandatory : No
Single Line Question Option : No Negative Marks Display Text : 2/3 Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0.66
Which of the following is NOT one of the 5 C's considered for credit evaluation of a customer?

B85 DY)’ DA EHSB BN, (BEET DFeniTHd EE% HOMNEIdE SEHS 5 C oS
2,863 52¢n?
Options :

Character of the customer

| v 5000 575885

Capacity or customer's ability to pay

, % SRS Bor £900 BDoB rdso

Collateral offered by the customer

5 & 5DNB o or 0BT TDLES.

Cost structure of the customer

4 % 3000 By 5 (P10

Question Number : 81 Question Id : 1927322563 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question Mandatory : No
Single Line Question Option : No Negative Marks Display Text : 2/3 Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0.66
Which of the following technigues of inventory control is generally used for classification of maintenance
spare parts?

Dermre> By ONOTLIRDY B SOVBAS Fé& Arerdeaor %S DR @ aR508
EoIES'S B85 GdHBrhardn?
Options :

ABC analysis

| % ABC Qar@®



VED analysis
» % VED &O%

Perpetual inventory system

5 x T3S BT 008 S50

Just-in-time

L SRS DS

Question Number : 82 Question Id : 1927322564 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question Mandatory : No
Single Line Question Option : No Negative Marks Display Text : 2/3 Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0.66

XYZ Ltd. paid a dividend of 315 per share last year and the dividend is expected to grow at a constant rate of
10% every year. If the market price of the shares today is ¥825, then the cost of equity as per the dividend
discount model is:

XYZ OB K¢ 00566350 108 082 150 AIBOG TOODOM OGS (D& H0Xe 50 10%
VERS Ben BABo& DEHDHA0SR 83019220 E08. 2.83¢ Bard 08 Ty 50780 &S 825
&5, 53¢ BITB0S G0l IS |DsSorr &8 563 Ssadho:

Options :

L% 12%

) % 18%
3 @ 20%

4% 16%

Question Number : 83 Question Id : 1927322565 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question Mandatory : No
Single Line Question Option : No Negative Marks Display Text : 2/3 Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0.66

A company is considering investment in a 5-year project that requires an initial outlay of ¥32 lakh.

The estimated post-tax cash inflows are: Year 1: 6 lakh, Year 2: 11 lakh, Year 3: 320 lakh, Year 4: 322
lakh and Year 5: 326 lakh.

The payback period for the project is:

ADDONES )T T32 5 1 BBIHERS 5 H0SSITO (S . DEVOE DEO 2.8 0D
VT 0A.

6755, 0S80 550 RS @OdT Qer God: 18 DX 180: 36 ©F e, 285 Hodedydo:
11 ©F e, 365 D0ed50: T20 @8 v, H05¢5 )80 4: 322 @8 e BN Doded 50 5:326

efen.

Options :
2 years and 9 months

| % 200380 9 SOen

3 years and 7 months

5 % 3 00ISHTO 7 JOen



2 years and 6 months

3 ¢ 2 VOJIBHTO 6 Ten

3 years and 8 months

4 % 3 00DS T 8 [en

Question Number : 84 Question Id : 1927322572 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question Mandatory : No
Single Line Question Option : No Negative Marks Display Text : 2/3 Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0.66

The earnings per share of PQR Ltd. is 10 for the current year. It has a policy of maintaining a
dividend payout ratio of 40%. The cost of equity is 15% while the internal rate of return on the
company’s projects is 20%. Which of the following statements is true according to the Walter
model?

50 H0BS180S PQR TG TBwE), (DA B HOTES T10. HABOGE Deoshed
DA 40% ™ DONOTIS TONHO ®TE €3 0D D0 &8 563 550D 15% HBTEN

0 (EE D 003 TE e 8ED) 20%. arPD RS (H35°30 OHS DEFS)
(D3Thren debgo?

Options :
Other things remaining constant, if the dividend payout ratio is increased to 60%, the share price of PQR Ltd.
will rise.

2BE DHoiren VB0 0B, 2.583% HIBOG YT DA 60%8E DODSECNS, PQR OTosH
| T8 DB B DEHE0E.

Other things remaining constant, if the internal rate of return on the company's projects falls to 16%, the
share price of PQR Ltd. will fall.

2éE DAATTen VBT o, E0A (BrBEO R V0GB O BE e BT 16%50 HASL NS, PQR
) % OQWEIE T8y, 2D OB HEDA0H.
Other things remaining constant, if the company decides to skip dividend, the share price will fall.

5w 2SS DAASFen VBorr &od, 0 GI0TBOE TrEHBAIL0NS, D S8 DA,

Dividend decisions are irrelevant for determining the firm value.

4 v 0P Jens BennFHmds GdATok AFaired Sowomren B,

Question Number : 85 Question Id : 1927322573 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question Mandatory : No
Single Line Question Option : No Negative Marks Display Text : 2/3 Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0.66

XYZ Ltd. has total current assets of ¥560 crore, creditors for goods and services of 300 crore and bank

borrowings of 200 crore. The maximum permissible bank finance under method-I of the Tandon

Committee norms is:

XYZ O T560 € 15068 esiven ($50€3 e50¢3 ), 3300 £ 5580 HBakn Rssesdy

Soeacesen (creditors) SHBam 7200 §€) 257508 e yew EDRHOS. Er0SS Ee3 doddes 1-8
QS0 |H5Bom KEROM @S otde 237508 DS ):

Options :



<195 crore
% 2195 8w

345 crore

, » 3458

<105 crore
5w 3105 8%

$215 crore

. u 2158

Question Number : 86 Question Id : 1927322576 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question Mandatory : No
Single Line Question Option : No Negative Marks Display Text : 2/3 Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0.66

XYZ Ltd. currently sells 20000 units of its product at 310 per unit with a variable cost of 7 per unit and fixed
costs of 330,000 p.a. The company plans to increase its selling price to 12 per unit and reduce the variable
cost to 6 per unit. If the quantity sold is expected to increase to 22000 units with the same fixed costs, then
the degree of operating leverage is:

XYZ OB DB AT I7 58 55090 B0 B8 730,000 VE H:a5rerE 2,8 tes B 1D
SHTREIR) T10 15738 DEoN0E. E0A) (DSBCTAEE 8 @005 B8 T12008 Do), tvd
SaiTR 1D OIS 36 SHomred eraRfod. 2.83% @8 VB H:0HoE JEooDS HBXTE0
22000 CHTEIOE DBASLI0NS, 93¢ edBE3on D508 TBndy A

Options :

1. ® 6.5

2. W 50
3, % 7.5

4.« 4.5

Question Number : 87 Question Id : 1927322579 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question Mandatory : No
Single Line Question Option : No Negative Marks Display Text : 2/3 Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0.66
Which of the following statement is not correct?

808 D557 DO HOETOSE 5¢y?

Options :
A credit card system is a credit system in retail transactions which has a present spending limit based on the
users credit limit.

B 578 5530 9TA DATTH e (BEhE] HOE errdorr (06 SH:aH HEWSBA ¥O8 &oB
| x OO rarBReSR af (BGE 535,

A smart card is a plastic card of the size of a credit card with an integrated circuit built into it.

18 50 @38 & S (BAE 2083 R B& H87358 $O890F, 3 50 H857006S 4oT 2.8
I8 50
2.8 =



A debit card is a banking card enhanced with automated teller machine and point of sale features so that it
can be used at merchant locations.

BDE 570 00O SERDE TIVE S OGN ronod) e DO e tred HHEDE,
s & ST O 5rd OB TS edarRo’On 2.8 erso8ol 53

E-payment cannot be made without physical transfer of cash or document.

4 v D Bz H| o By, 7B 260 Bhom E-5905) DahBsim.

Question Number : 88 Question Id : 1927322580 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question Mandatory : No
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are the addresses at which web pages can be found.

20 3 ek EHFdde w@ERw.
Options :
1.« WWW

,  URLs
5 # NAP

4. % FTP

Question Number : 89 Question Id : 1927322581 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question Mandatory : No
Single Line Question Option : No Negative Marks Display Text : 2/3 Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0.66
ATM stands for:

ATM 3308} DG SrHo:
Options :
Any Time Machine

Lx VD IS

Automated Teller Machine

, x VA VOO DAS

Annual Teller Machine

5 % 85O DOS BAS

Actual Teller Machine

350 )9O BOT RS

Question Number : 90 Question Id : 1927322582 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question Mandatory : No
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Correct Marks : 2 Wrong Marks : 0.66
Sampling is a form of multistage sampling in which maps, rather than lists or registers are used as the
sampling frame.

P0RON(DEICNN0) R 1T 278)Een By O2R0eN 5°500° 5D 0 GOTrHoch v
e OO PHEIAHN0) ErHo 9nd PO ON(| DB HAHS0)
Options :



Quota
1. ® 3865"

Area

) o DOOST

Judgement

s % BEI0E

Convenience

4 % SIODST

Question Number : 91 Question Id : 1927322588 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question Mandatory : No
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Correct Marks : 2 Wrong Marks : 0.66
What is the probability of getting three heads or three tails on three successive tosses?

SEDMT $300°¢%0 2 T EFNE DHS SR a7 ardd 85%0; B Sorrchy ardd Bk o
B Te EARNI R FANTA 74

Options :

L ® 025

, % 0.125
5 % 050

4 075

Question Number : 92 Question Id : 1927322589 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question Mandatory : No
Single Line Question Option : No Negative Marks Display Text : 2/3 Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0.66
refers to any communication technology that permits clients to play streaming audio and video files at
acceptable speeds. i.e. generally anything above 100Kbps.

SIRTETIEE; DS DHOS - 0T A erEeoT 100Kbps $H8CH &2 QWO eBr 8050 VAT
DFI D TAHENE Ean0ENIE BDBOT IBT FITAS TS eEd _ Srdod.
Options :

Narrowband

| % o0 ers0h

Broadband

(2768 237508

Cable modem

5 # Tend TS

Telnet

L x OO
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Rejecting a null hypothesis when it is true is called a

#Fredg DBEOIS Q230 AN IR TR 3808059V, Q) e90erd.
Options :
Type | error

L% BRI1E8d0

Type Il error

5 ¢ DI EHo

Type Il error
;2RI &ho

Type IV error
L% DRIVEIO
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The probability of committing Type Il error is symbolised as:

oD 11 800 B H027ssed @er QrdotddS00;
Options :
Beta

| v Der

Alpha

, & B)

Gamma

3 % (Tod

Equal to
4w 550 e
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Correct Marks : 2 Wrong Marks : 0.66
Probability ranges from to

N0eFd55 HES och 35880 sotnod.
Options :
1to 0

1% 18008 0 058%

Oto1
) % 000G 158%

0 to infinity.
% 05080 8%,

W



11010
4 ¢ 100G 10 3585%0
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Student's t-distribution was discovered by .

Qe t Derascdddy Eofdyard .
Options :
Laplace

% P

Fisher

Y

Gosset

3. BRE

Pearson

4w OIS
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Correct Marks : 2 Wrong Marks : 0.66
The mean of sampling distribution of mean is equal to the

DTR08 OBnE) (e3dchd deTesd Odng)y HTH 30 DTS,

Options :
Standard deviation

L a el Ddexdo

Median
5 o G580

Population mean

5 % By QU

Mode

4 % 2FVSEO
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Single Line Question Option : No Negative Marks Display Text : 2/3 Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0.66
The standard deviation of sampling distribution is called

(0E3THON DaTresdd GRE), (aroreds RO 0.

Options :
Standard error

| w @raress o,



Sampling distribution

P EUEINOWI R EN T

Mean error
, Qo8 &Eho

Type 1I error

4 x DRIl

Question Number : 99 Question Id : 1927322606 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question Mandatory : No
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Correct Marks : 2 Wrong Marks : 0.66
The t-distribution is used when sample size is
unknown.

BTD® DOXTRO B 90850 65055 G558 3¢5 SHBakn 23572 |2redre3E Dherso
BOADAY I t- D220 GHBIN0TIIRR0E.

Options :

1.v 20

or less and the population standard deviation is

2. % 30
3. % 40

4. & 50
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The mean of the Poisson distribution is 2.25. Find standard deviation of the distribution?

TPONBS D2F2300 TBNEY DT 2.25. D2rre3cdo AwE) [a7aared Dderr)

EoffeSods?
Options :
L. 15
2. 2.5
3 % 00

4 % 51

Question Number : 101 Question Id : 1927322608 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question Mandatory : No
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Correct Marks : 2 Wrong Marks : 0.66
Which of the following is not a property of normal distribution?

808 T3S DA FeT G Deyredio TRy ©F 90 $?
Options :
The normal curve is symmetrical about the mean.

L Trerden S E0D HTROE Frador Gotnod



The height of the normal curve is maximum at the median value.

, % TEGen S50 CI0Fy B Saed5iies Desd 5E BBRNOT EOENOB.

The normal curve has only one mode.

- rordes S ETDE 2.8 erTuEo Gotnod.

The mean deviation is 0.7979 of the standard deviation.

4 3 re3E D0 Ty ki Jedersso 0.7979.
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Correct Marks : 2 Wrong Marks : 0.66
A sample design in which a sample is drawn in two or more stages sequentially is known as sampling.

BO% B> @00y DB A SEOT B0ED) 2.8 darer Srnger1ddd D&SHahdo

90T,
Options :
Judgement

| v B@D0S
Multi-stage
) % TVY-AFe

Quota
3, % gaf.\j"

Cluster

N
®
IUR
g25

on
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Correct Marks : 2 Wrong Marks : 0.66
Suppose Mr.X toss a fair coin twice. What is the probability of getting two successive heads?

MrX Bogoar® 2,8 80D T B0 IHEST SR @0E0T, SO Bodk ardd 8550 &rol
D02Te3565 )OES?

Options :

1.¢ 025

5 # 0.125
5 % 0.50

4 % 2.00
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Correct Marks : 2 Wrong Marks : 0.66
If the standard deviation is 300 and n = 25, Calculate the standard error of the sample mean?

|58 DS 300 SHSAH N = 25 OB, ST GLDOEIFOIO D) B3NE), [BrSTeds
Eord) B0k

Options :



2« 30

25

w
®
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Poisson distribution was derived by S.D. Poisson in the year

aPONRTS QTR T°W) 0.8, aPO02TS 50563806 DS Do,
Options :
L% 1873

, % 1783
5 % 1837

4 v 1738
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Correct Marks : 2 Wrong Marks : 0.66
If the probability of defective bolt is 0.1. Calculate its mean for the distribution of defective bolts in a total of
10007 (Use binomial distribution)

SHANOE ErGd S H0erS3¢5 0.1. T 1000 5D o3¢ SHdveE §rdid DereardE Tl
DT8R B8.015047 (B 55 QeFreara)) toasriodiod)

Options :

1. % 50

2 & 100
3.« 1000

4 % 500
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Correct Marks : 2 Wrong Marks : 0.66



Through Chi-square test, it is possible for a researcher to:

D550 D8E 5T, HOTRHEE A& B 50)H0E:

i) Test the goodness of fit.
) 2E ) TBrdsed (goodness) & HEE otido

ii) Test the significance of association between two attributes.

i) Boch ©F g77e> 306 9022080 TRy [Brdnmeesch D88 0tdcko

iii) Test the homogeneity or the significance of population variance.

iii) 2300723 DY Ty, DeFBANESD Brxe (e edad HBE 0tdo
Options :
Point | anly

| v TONOE | S B

Point Il only

5w TONOES Il Sy

Point | & Il only
3w OO0 | & 1 SBTD

Point 1, 11 & 111 (all)

4w 000 |, Il 8111 (€9Q)))
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The ANOVA technique was developed by .

ANOVA "rose38esad 98590 Tadardd :
Options :
R.A. Fisher

| ® RA.DID
A.R. Fisher

5 v AR DA
AA. Fisher

5 % AA b

R.M. Fisher

4 % RM. DA
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Let there are 8 persons from whom we have to select samples of size 3. How many samples can be selected?

8 5008 $80> A0G 3 HDBSFROS ST e FXOR GOTY, A Srmrerddd
DOTHEN?

Options :

1. % 56

2. 8 65
3, % 32

4« 64
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Which one of the following is not a managerial function of the human resource management?

B80ATEIS DA X795 55500 S 55780 Ty o5 HA 5?

Options :
Planning

| RE

Training

) w 2869

Directing
3 % QA8 80

Controlling

4 & VODHOBED
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Which of the following technigues may be used to anticipate the supply of human resources?

536855 585806 HENT e90tHT® FANEIE 80 T3S’ & Ve GHEITAOSSTR?
Options :

Work study technique

363 0& dzdo.

Ratio analysis

L % AR DFAB(BHTH @TORV).

Regression technique

BAA® TR0,

w
®

Markov analysis

SrEhS DN
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Correct Marks : 2 Wrong Marks : 0.66
Which of the following statement is FALSE?

808 |HHSaTeeS DE Sy)?
Options :
Human resource planning forecast future requirements for human resources.

s ST SO (DEFDE, S SSKO BN BSHT O WOLIT IO,

Human resource planning facilitates the expansion and diversification of an organisation.

5w 00Teda) addhe (DR, HoD TEE DREE O BG5S exBIBE0 TROE.

Human resource planning does not anticipate the cost of human resources.

3w 70D SIGO |DeFDE, Srdes SSBed S3aF), G0,

Human resource planning helps in planning for physical facilities like canteen

& staff quarters for the staff,

22068 5750638 & D 575867 $0¢3 25DE DEoezed (HeTPES $5rdd
SIKE (DT PE STFADND SO,
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is a detailed and systematic study of jobs to know the nature and characteristics of people to be
employed for each job.

20316 (D8 &S AAHWOE) ) H5ved D 520 HBAN ©F e7rerdd BenNEHE V8
G sre> BEy DdBeaesed HBA%W £ e953a5e50.
Options :

Job design
| v G8s Erd¥end

Job specification

, » G50 Ag-den

Job analysis

s % G5 DInen

Job planning
4 x SO (Der D
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is a written record of the appropriate and authorised contents of a job. (i.e. duties & responsibilities of
the job)

BV 2.8 GE TS A 008G HEY @ome |TéIrE 58 85, (G talSsiio TRnsy
Doen & 23cdzehen)
Options :



Job specification

| v G658 ABF0Erd VPEIS).

Job description

, 1 GO dSea(eres BRFRS)

Job record

5w B85 05D

Job design
4 x S8 Srd¥eders GES)
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A job analysis results in two important documents: (i) Job description and (ii)

& D3 DO SNWITS HEFO AN (1) G5 DdBen B (ii) X
Options :
Job design

| w G5 ErdEed

Job redesign

5 v G850 derdder s

Job enrichment

5w GO D6

Job specification

4w CE58 Yso
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Which of the following statements is not true concerning recruitment?

QAT H00A0D) BoBa3 3 D& D=0 2X?
Options :

Recruitment can be made only from internal but not external sources.

| % Qasre¥o @00e5Feh H3%E DO S (dad T, 520 27578 DI od 5.

Recruitment is the process of searching employee.

, 1 NOTE0 @0 G eF S10T (DD,

Recruitment is a pervasive function as all organisations engage in recruiting activity.

3 v NATHZ0 T DQYSTA (DAL, DOHZOD @), HoHen AT 5SS rSoerow.

Recruitment is a two-way process.

4 % QATHEO B SrgeSHr 287 HIEA
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is a scientific technigue of ascertaining the relative worth of different jobs in an crganisation.

9T 2.8 HoPS NS &E e FDE. Denssdd AT BT 7RO AroSBEds.
Options :

Job design
x G850 Srid¥ernd

Job evaluation

o G835t Sarergoddo

Job description

5w O3 e

Job specification

& G830 g0
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is the process of assessing systematically the performance of a person on the present job and his
potential for higher level jobs in future.

o8 150 &80 2.8 H58 TR0 DG S0BE5D VDS’ &Sy ¢ o S srerdy
2965 VT, 1E0HSBES’ evotir I (HEA.
Options :

Performance management

HABE DS $5T (DT 2BINT 5HB2063)

Job evaluation

5

, G5 Srer0800 (e DaTrensthid)

Performance appraisal

2 % HABE HB08Y (T8 | D)

Job analysis

L &l DBAEETS TOVD)
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is a process wherein representatives of the employer and of the employees negotiate on voluntary
basis the terms and conditions of employment.

OHz3SrR) BN G shes |HBAHEY, ti:8 A20dBeD HBAN A& H5II0S [DBHOED
58303 (D8 .

Options :



Trade union

o,

| % eSS D00

Trade bargaining

, ¢ TERRss BOTEN

Collective bargaining

3 % g BEITen

Management by objectives

L% O8O P 5T A3 S&ree
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In India, the Trade unions act was passes in the year

2r8ST50, Bl ArdoHd HH0 eRrO0GS o 80 .
Options :
| v 1920

5 % 1926
5 % 1962

4 % 1942
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Correct Marks : 2 Wrong Marks : 0.66
is the process of increasing knowledge and skill for a specific job.

2 2.8 Ada wB:fo FH0 &0 HBCHH BIeTsd) DOT (DESh.
Options :
Development

Training

x ?g\?ﬁ)

Job
5 G850

Evaluation

4w 0030800
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is the process by which managers acquire not only skills and competencies in their present jobs but
also capabilities for future managerial tasks.

Do s Hoen(Enzdd) a8 DS G ired Beien S80% T e drd siow
BDN S ATBSTO: DOV FT e Erm ot (HEAH .

Options :

Performance appraisal

JABE HA0Y (DT*)BSY &9 D=O)

Management development

, & V5T @D R(BDR080 B 0)

Conference training

DArS% 28 22(5°0)B8) (Bdoh)

Promotion

" DES B(HITASD)
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Which of the following method of training is not generally considered as On-the-job training?

&s 808 B e E{)Cé@fﬁﬁ DB rcrdeaoT eaS-G-2Y 38 earr HEKH0TICE?
Options :
Coaching

L v §Doh

Job rotation

5 GO SrB)G

Sensitivity

s x OPEIsS

Position rotation

4 % TN B0
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is a voluntary and continuing association of employees to protect

and promote their interest.

T8 (DArzT e HBEE 05TTIE SHBOW | Yerod T8
&5 H555)08 HBAN ABosE Hodo

Options :



Collective bargaining

| v R BEJTew

Trade union

W,

5 w OER3S QOO

Collective action

3w o s

Grievance redresser

4 % DO HBNG
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Which of the following performance appraisal method combines graphic rating scale

with critical incidents method to evaluate employee's performance?

GEHO HABEIK O TWANEAE 0B DB SHEOD) (DT=)BISY
o D2S) DD’ A ERTS H0EIS DGPSoES [PDS Be3oh Dyeny,
WES0 TNOE?
Options :

Behaviourally anchored rating scales

| % DIDHSD 05rosG B30l Ty

Human resource accounting method

5 @ 785 Hd&e 95°0¢30h Do

Forced choice method

20650¢5 DODE(FBD ), TrONN)
2 & TS0

4 % MBO
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Appraisal is a system or process in which employees receive confidential, anonymous feedback from
the people who work around them.

X605 98 2.8 HOS B (H8A%, A &rSiHen B0 thHtY 1580 HATRS) 8 Dod
TR0, @arend eodaraira)) Srochsi.
Options :

60-degree

| 60-3(

360-degree

, » 360-3



180 -degree
L« 180-&8

90-degree
4 % 90-&0
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is a systematic process of improving the performance and developing the capabilities of teams and
individuals in an organisation.

o8 28 o DABEI DAHDEIEH0 208350 20T HB8AM HEBVE AT gD
©DDYB B 28 (500D DB
Options :

Performance feedback

HABETD D& 255

Performance standard

s % DAL (rsredses

Performance appraisal

5 % HIDB SO

Performance management

4 % HIBB DS 557
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Which of the following source is not an internal source of recruitment?

2808 ¢35 A DSSTNE0 By ©0eSeh $& s7e?

Options :
Promotion

L% DS

Campus recruitment

a8 E 1 3
, & S500D B8R0

Transfer

3. ¢ 3«)&@

Job posting
4 % &5 FQOR
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is the process of searching the candidates for employment and stimulating them to apply for jobs in
the organisation.

RS &ard 50 @25:50008) F800), HodS &Eimrerdy S SEar) TSI
0203 (DEShH.
Options :

Job enrichment

| G5 0000 &

Recruitment

5 v DosTH¥o

Selection

3 % DoDE

Job analysis

4 % G058 D3N
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concepts of marketing hold that consumers will favour products that are available and highly
affordable.

S0y €300 o3wd) 2a55ew, DATIFHETEIEN 002N’ tredy S8 60 HEIoS

€565 €008 @MEreOT GotradA) @D ErOHOE .
Options :
Selling

1. % @&@é‘;@

Production

Marketing
5 # r0pe30h

Societal

4 & oTrard
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A company's consists of the actors and forces outside marketing that affect marketing management’s
ability to develop and maintain successful relationships with its target customers.

2,3 D00 WE) _ ©8 & E0EE HONEBS HoDoe 9880 TOHeERE SH8ain
QE 58P0t TTR8 3B 308 A s Aradg™A) 1H2TNS0 TR SrB3¢308 Tended ) sE5en
S8 #30er $O8 oeod.
Options :
Marketing segment

L SrB300 dertio



Marketing mix

3508300 8

Marketing environment

3 # r03e30R TEHGE0

Marketing information

4 & 20703300 Sdrardo
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Segmentation divides the market into groups based on variables such as age, gender, family size,
income, accupation, education, religion, race & nationality.

350y, Oof B0, oenoe DBXTR0, BEFAH0, S8, D&, NS0, &8 & 2305 S0e3
HETehe s8erdomr_ D8esd S5 0 et D253 od.
Options :

Life-cycle

| v BB B B0

Demographic

5 % BT DoDOHS

Geographic
s % ST

Psychological
4 % ATONE
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refers to the amount of money charged for a product or service or the sum of the values that
consumers exchange for the benefits of having or using the product service.

2.8 656518 Brrr 05§00 S3ren ToHhaadd S B e85 18 D50 D8 Gochero B
GHARTRONSH0 SO JATFHETBIED S8 TOFD el VTR _ Hrddod.
Options :

Product

% @ég}@

Distribution

2. % &')O?Jeﬁ

Price

e



Promotion

4 v T00
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is a policy under which a manufacturer fixes the price of his product below which his product would not
be sold to the consumers or distributors.

SOSTETT S 805 5e5 1S TF0E) S8 70 0T 6503550 DIATrATHOE B Hodesrerdy
DEONOIEFBAN AQoNoT 2.8 Derdo .

Options :
Mark-up pricing

| x STOF D &8

Legal pricing
L & DRHES B

Price discrimination

;0 ST

Resale price maintenance

3z | S Y QS seTen

4.
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The study of is the study of how individuals make decisions to spend their available resources (time,
money, effort) on consumption- related items.

S350 55080 9002 €5d) SISO (DDAHO, Bany, xR ATFTIE HODOBODS
580902 ) TAHEEE AESETen Der uFotrd OB HOIOOT 2.8 ed:0080 .

Options :
Selling behaviour

| w @085 (DSES

Consumer behaviour

PR eV Tayer> ERelN

Social behaviour

3 x TR 10858

Cultural behaviour

4% 00298 1D5ES
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Which buying behaviour occurs when consumers are highly involved with an expensive, infrequent or risky
purchase, but see little difference among brands?

DABrcrdoen 8BS, ST Do 804 553 TeHTS’ DE0LST TS0y, & (8o
T35 & BEDS Ehoffen (558 Ho2DDoE?
Options :

Complex

s SOTIDS

Dissonance reducing

, & DO Slotscho

Habitual

3 v OOTED HERS

Variety-seeking

4 % DF ST
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refers to the combination of various promotional tools used by a business firm to create, maintain and
increase demand.

GATOGD DYROVIETRE, AEEF0IERE DA DOBERE &75ard DOY GHRTHOT DG (DTS
FTeey Eoondd JrDVOA.
Options :

Price mix

LR 08

Promotion mix

(ORFAR D8y

Place

. % (2840

Sales mix

O DS

Question Number : 138 Question Id : 1927322673 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question Mandatory : No
Single Line Question Option : No Negative Marks Display Text : 2/3 Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0.66
Marketing mix is known as the four p's of marketing. The marketing mix components are price, place, product
&

SB3E300 QET Q et p's 578,300 9 Denard. S8 e300 ET oz | D, DD, (TS
0B .

Options :



Promotion
L% o DT
Patents

5 % WEOEN]

Possession
3 o P

Position

4. ® 3o
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help the company to promote, sell and distribute its goods to final buyers.

E0R) A 52 3t WYeEy (DT80 O 10RERE, 9550208 BN HoNES BOLERE {08
S0 B,
Options :

Suppliers

| x OODTTGEN

Marketing intermediaries

5 o 0300 ehsadten

Echo boomers

5w F arH®

Generational marketing

4 & S0 &rSxedoh
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Which of the pricing policy state that a company will fix the price of a product below the competitive level to
obtain a larger share of the market and to develop popularity of the brand?

S0 B389 TEF SPOGETDE SHBON (27708 TREy (D2t 8% )0 TBAHEdE .8 Hod
73 o0 0T 550365 Eeh I 58 ABNNOHRR 808 B Do & DHE0E?
Options :

Skimming pricing

| v NpOR (2000
Competitive pricing
, % SODE3E3S (2ol
Penetration pricing

s w ODBDAS RO

No

No



Keep-out pricing

4 % S2-0998 |2Roh
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Which of the following marketing concept holds that the organisation should determine the need, wants and
interests of target markets?

HOY @8 ¢ A3 eddTmen, FHEe HBAN edEed ATBoTTre & 18od Jrde30h
NS O DSBOE?
Options :

Selling

L% ©3%0

Production

2 v T8

Societal

Marketing
4 % 0°0x¢300
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Environment consists of factors that affect consumer purchasing power and spending patterns.

QATrHEdrer Foffen 482 8050 $50H0 TA [EArerdd (Heradho TR 07 e

FEEsGea0 D8 Goenod.
Options :
Political

| % T°80%

Economic

5w @08
Demographic
5 % BT DODOY

Natural

4. ¢ DTS
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Which of the following segmentation divides buyers into different groups based on social class, lifestyle, or
personality characteristics?

803" A sl 858, 2333 B 55868 5 0§ ered errdorT Fofent e Io 5%
HTIEe 0T D253 W0E?
Options :

Product

13&‘;‘3@0\?‘}

Demographic

5 @ BT QOVOD

Psychographic

= . =,
5 x OSUERE

Geographic
48 & oL
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Which of the following pricing policy involves setting a very high price for a new product initially and to
reduce the price gradually as competitors enter the market?

868 |00 AFTOS'Q & QTS0 £ 565188 [r80250eS” 068 &8 dFanoD), Hederdren
57038 (DB F0TED 1 (Eor B $Rotdtho B3SHehod?

Options :
Skimming-the-cream pricing

| a DFOF-G-E [RRON

Penetration pricing

, % DRSO

Keep-out pricing

§2-e059¢3 200

Negotiating pricing

4w B0 000 (BN
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as anything that can be offered to a market for attention, acquisition, use or consumption and that
might satisfy a want or need.
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Options :

Price

1. % wlel



Product
2. &8

Place

5w OBH0

Promotion

4w T00
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Which of the following market segmentation strategy follow "one product one segment principle"?
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Options :
Niche

| x OSSO (D)

Concentrated

-~ B0(HEB0D (R0 TIBE)

Differentiated
5 20 DAHDAGE (GHBICHTE)

Undifferentiated
4% SEDANSHIE (@5—(%&)6@53@35}
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is the process of dividing the total heterogeneous market into several homogeneous sub-markets.
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Options :

Market segmentation

| x SB35 DMODAS
Market sustainability

S8 &S

Market mix

0°B3E3 Q05

Market determinants

4 % 5508 dGahseen.
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Consumers undertake in situations characterised by low consumer involvement but significant
perceived brand differences.
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Options :

Controlled buying behaviour

| % QaHoBe Fhoffen (D58

Decision buying behaviour

5w AFAD DHSorr S ffen (HIES

Habitual buying behaviour

5 % ©OTEN HSOT FOfen (D5

Variety- Seeking buying behaviour
2S5, FHOER Foffen (D58
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Which of the following statement is False about Language?

eronsed 50 Ho0H0N 8od (HISTOS DB ©He:0?
Options :

SGM = Standard Generalized Markup Language

SGM = oD 2887 by @R eronses

1. %

XML = Extensible Modem Language

XML = 08,0200 JIrBD o 585

2.

HTML = Hyper Text Markup Language

HTML = 33708 B85y, s0r8) &% erongzs
3, %

IE = Internet Explorer

IE = 206338 A8y 556

4. ®
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is the programming language used to create most web pages and which

provides designers with a fixed set of tags that are used to format a web page.
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Options :
1. % HTLL

, % FTP
3« HTML

4 % HTTP



